[(FHSEFE HEiR]

TSL-3-TCL-3 .
(0-50) (0-40)| R BE

a1 F71—REY e Bz

GiF=3) - (2B y)—

e KA 2 =X
B

EH RIT BARBZN| IR EHt

(BEIEE)

(EBE)

= ¥ 5 TE BN KB RF|/N\NFBR— | EE R | AR RE

Yyh—3/A RS9 5—

i N

tht & Bl = E HMHFEA B 2 R ik M
EEBERE AH BA £ & AKX EBF 2 E HE
(BRE) B xE BEA EF ¥ATH #BF
S
(BB )
—R&H INE FN8 A Rle
(BB )
ZTER [RHE E&&F #1L &R | BZxEE
(FEm)
INR BEZ
(BB E)
fek BR TR HERS | 2H W E| X\ H#E
DaZTER
st B XE B¥ | 7k RS BE |FINEAER
(BIER &)
(BB E)
LT 4—REB LA =FF
(BB E)
TYhHILER /AR B mll EB | KIg FX
(BB E)
HBIEA R - |
Tk L= WA 1T RE B
. CWL—3 | o =
T RE— X} WS | sk BA




